
©L o2G0c1V6s [K`uztLaY YSqoxfLtKwhazrzef ILSLKCp.M i IAwlvlf JrDiNgOhRtosI lrae]sMenrQvreEdl.U [ NMfaadneN KwmiJtqhX iIDnZfei`npigtMeB KCFaJlxcFuNlEuMsb.

Worksheet by Kuta Software LLC

Calculus

Implicit Differentiation Practice
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For each problem, use implicit differentiation to find 
dy
dx

 in terms of x and y.

1)  3y3 + 4 = 2x 2)  4y3 + 5 = 5x2

3)  4y2 + 3y = 4x 4)  2x = 5y2 + 4y

5)  3x2 - 3x3y3 = 4y2 6)  2xy = 4x3 + 4y2

7)  4xy2 + 2 = 5x3 8)  x2 = 4xy2 + 1

9)  4x3 = 5x2y2 + 4xy3 10)  3x2 - xy2 = 3x3y

For each problem, use implicit differentiation to find 
dy
dx

 at the given point.

11)  4x2 = -2xy + 2 at (1, -1) 12)  -y2 + 4y = 5x3 at (-1, 5)

13)  x2y + 2 = 2x at (-1, -4) 14)  xy = x - 3y at (-2, -2)

15)  3 = 2x - x3y at (-1, 5) 16)  -3y3 + 2y2 = 5x3 at (1, -1)



©` G2N0]1I6q QKeuMtIaU ISsoJfltCwOaTr[eR ^LjLzCb.^ k [AqlKlk ArZiJg[hktLsS frYeqsve]rtv\e`dl.X i zMxa]dfeH Hw_iptfhI PIknDfyimniiftPeB RCDaXlocCufl]uCsv.

Worksheet by Kuta Software LLC

Answers to Implicit Differentiation Practice

1)  
dy
dx

 = 
2

9y2
2)  
dy
dx

 = 
5x
6y2

3)  
dy
dx

 = 
4

8y + 3
4)  
dy
dx

 = 
1

5y + 2

5)  
dy
dx

 = 
-6x + 9x2y3

-9y2x3 - 8y
6)  
dy
dx

 = 
6x2 - y
x - 4y

7)  
dy
dx

 = 
15x2 - 4y2

8xy
8)  
dy
dx

 = 
-2y2 + x

4xy

9)  
dy
dx

 = 
-5xy2 - 2y3 + 6x2

5x2y + 6xy2
10)  

dy
dx

 = 
9x2y - 6x + y2

-2xy - 3x3
11)  

dy
dx

x = 1
y = -1

 = -3

12)  
dy
dx

x = -1
y = 5

 = -
5

2
13)  

dy
dx

x = -1
y = -4

 = -6 14)  
dy
dx

x = -2
y = -2

 = 3 15)  
dy
dx

x = -1
y = 5

 = 13

16)  
dy
dx

x = 1
y = -1

 = -
15

13


